6l

Ol

9¢€

v

071

2t

80

82'9G1

vE'9GI

67951

92'9¢G1

91'9G1

=2| X
S| s

0

—

0'Ge

M ep'9aT

c

ge

062

07
0

=
=

(=1
¥

0€'9G1
08'GGI

¥G'9G1
86961

¥9'9G1

8G'96G1

G961
18sI| S|
L2961

000

850

€20
Ge'o

0'0+81

120 /

02'0

Al G-l

a%'o

€20

6y

07

8¢

8695t

Bi4e

LOLST

G6'96G]

=2| X
S| s

=
—

=
=)

0'Ge

S

[4¥]

062

07
0

=
=

(=1
¥

IVAY!
¥S'96T

GE'LGT
6€'LGT

Sy'LGT

6€'LS1

GE'LGT
05'951| =
86'951

000

8%'0

[
000

8%'0

1€0
0€'0

L20

0'0S+/T AU

9¢€'0

€L-U

GED

0'G L0 184 g oaBopgeR
0glYegwg
g 7 o N I e
3] oo} [soXo) S b 909 &
@ a > =
70 07 G2| G¢ 0T /| +0 ‘0 0aB0pgep
o] odw | 02 oc2| /oor 00 0Qugef
— — — — — = N WOLLwwecs
229 7 g e 2 0agog e
ST o P 3 < 3 Le3a oaBBwo)
001 T 0eeQpace 0wkBLoQWlE
001:T 09<@pace VWE&EQguqopwe
o o
g &|_
=4
o
S — ! ] —
S xe o =) o 2
T 5 5 &
0G/+/T AU ¥L-U
80 y'eE 80 6y '@ oasopgep
0glHegwg
g g g g G| gy ot |
>~ - - o e 9R,09 R
=4 w w o aD
70 07 G2| G¢ 0T /|0 ‘0 0aBopgep
o] odw | 02 02| oor 00 0Qwysk 0glHgwp
= — — — — = ) ?Xnvwﬁ?Z; Q¢
5% g g G GGG & ooy propeay
59y o N a S 0aBBwo )
00T 0ee@pqep WL a3<CoQWLE
0011 0eeQ@pacg 0wEBQgugowwe
o &
o &
o
I o
o (=)
o w o o o o =
S = G o B 3

0'Ge+/1 A eL-U




